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QUESTION 1

You need to backup Exchange, MS SQL, and VMware virtual machines with application consistency. Which tool
accomplishes this task?

A. OnCommand System Manager
B. VMware vSphere Web client
C. SnapCenter

D. OnCommand Unified Manager

Correct Answer: C

QUESTION 2
You have deployed volume-level replication with NetApp Synchronous SnapMirrorreplication technology.
In this scenario, which two statements are true? (Choose two.)

A. In Sync mode, the application I/O fails if the write to the secondary storage is not completed, thereby ensuring that
the primary and secondary storage are identical.

B. In StrictSync mode, the application is allowed to continue writing to the primary storage if the write to the secondary
storage is not completed.

C. In Sync mode, the application is allowed to continue writing to the primary storage if the write to the secondary
storage is not completed.

D. In StrictSync mode, the application 1/O fails if the write to the secondary storage is not completed, thereby ensuring
that the primary and secondary storage are identical.

Correct Answer: CD

QUESTION 3

A customer wants to assign a user to a build-in SnapCenter RBAC Role that will allow them to review and start existing
SnapMirror processes only. In this scenario, which Role will allow the customer to accomplish this task?

A. App Backupand Clone Admin
B. Infrastructure Admin

C. Backup and Clone Viewer

D. SnapCenter Admin

Correct Answer: D
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QUESTION 4

A company just installed SnapCenter to help manage their ONTAP 9.7 environment. The database administrator wants
to add new volumes withLUNs for a 10 TB Oracle database. Which two tools would accomplish this task? (Choose
two.)

A. SnapCenter Plug-in for Oracle Database

B. OnCommand Insight

C. ONTAP System Manager

D. Active IQ Unified Manager

Correct Answer: AB

Reference: http://197.253.9.244/ontap%2095/Cluster%20Admin/2_Student%20Guide/STRSW-ILT-
ONTAPADM_StudentGuide.pdf

QUESTION 5

You want to configure peering between two existing ONTAP HA clusters.

In this scenario, which three steps would you perform to accomplish this task? (Choose three.)
A. Create a cluster peering relationship.

B. Create intracluster LIFs.

C. Create intercluster LIFs.

D. Create a SVM peeringrelationship.

E. Create iSCSI LIFs.

Correct Answer: ACD
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